FEAE A OB OSBRI DV T

fi R UOE R WIEf% WER |5
1| B Bk ek A Ak} 510 560 109.80% [#aFsiL
2147 B B pE A FH ) AEE MRS AT 2B, ) 207 U — MER U < B A U IS O B TP A — M E T L iC 1, 500 1,500] 100.00%
HAE X AT NFEAEIAR Z & 1T 3, 000 3, 000| 100. 00%
TR AT ZAEIAR D & 1, 500 1, 500{ 100.00%
BRER O FIRE . KM R EE, MR, BRI IR D & 1, 500 1,500 100. 00%
Ny RBR— VX E~ v R—L 1l & 3, 000 3, 000] 100. 00%
FOMBM HREREL TEFA— ML ETI LIS 1, 500 1,500] 100.00%
SIBRA L AT R B A 4, 400 4,400 100. 00% | 5 HE AR
B 1A 8, 800 8,900| 101.14%
BA EA 4, 400 4,400 100. 00%
He 1A 8, 800 8,900| 101.14%
JlFE TR X — ZFRiT 210 210 100.00% |[{FEATEIR
Wk EE Tt 310 350] 112.90%
R 310 310] 100. 00%
] 310 310 100. 00%
AR P14 430 500 116.28%
R [H] 430 430] 100. 00%
PRI 310 310] 100.00%
[ FE =R Tt 430 500 116.28%
1] 430 430[ 100. 00%
]| 820 830 101. 22%
WHE= T4 1, 300 1,320| 101.54%
A % 1, 300 1,320 101.54%
PRI 440 470] 106. 82%
HE= Tt 700 780 111.43%
B WM 700 710] 101. 43%
‘R 370 370| 100. 00%
THER R T4 600 610] 101.67%
K 600 610 101.67%
AR— ]l 530 570| 107. 55%
R—L 1% 860 960| 111.63%
K] 860 870[ 101.16%
S NE 310 320 103.23%
5| MG AT A NE A 3, 080 3, 130 101. 62%
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15 U IE R UWIE % wiEE |fHE

(AlF% 2) F1% 4,110 4,180 101.70% [{FEAETEHE

R [H] 4,110 4,180[ 101. 70%

MHE= A G REl] 820 830( 101.22%

P14 1, 230 1, 250 101. 63%

K 1, 020 1,030| 100.98%

WHEEB ] 510 510] 100. 00%

Ft% 820 830] 101. 22%

R [H] 720 730 101. 39%

FiEL S G REl] 410 410] 100. 00%

1% 610 620] 101. 64%

K 510 510 100. 00%

i 4 H 12, 850 14, 110] 109. 81%

2fE (E#% 3) 2 H 1, 020 1, 100 107.84%

(BIIZ& 3) EoE AR 410 440 107. 32%

1% 510 590| 115.69%

R [H] 610 620 101. 64%

(Bllz 4) AR S aETl) 5, 140 5,230] 101.75%

E1% 6, 170 6,860 111.18%

1] 6, 170 6, 280 101.78%

= H B HE=EA S El] 2, 050 2,080| 101.46%

1% 3, 080 3, 130 101.62%

K 3, 080 3, 130| 101.62%

WHE=B S R]l] 1, 020 1,030 100.98%

Fi% 2, 050 2,080 101. 46%

1] 2, 050 2,080 101.46%

THER SR ]| 820 830 101.22%

1% 1, 230 1,250 101.63%

K 1, 230 1, 250 101.63%

SN 310 320| 103. 23%
YANR=T T | Bbn AR 7R 6, 480 7, 120] 109, 88% | F-ETE HER

& 10, 800 11,870] 109.91%

&[] 10, 360 10, 550] 101. 83%

A TR— Y TR— )L LR 1, 830 1,990 108. 74%

Fi% 3, 020 3,330( 110.26%

K] 2,910 2,960 101.72%
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fi FHE} U IE R WIE% QUEHE |5
N —= % ZFHiT 1, 830 1,980 108.20% [f{f-fts kg
P14 3, 020 3, 300] 109. 27%
K 2,910 2,960 101.72%
RS R = ] 1, 180 1,320 111.86%
Ft% 2, 050 2,210 107.80%
R [H] 1,940 1,970] 101.55%
B 1AHE=E S]] 750 800| 106. 67%
P14 1, 180 1,330] 112.71%
K 1, 180 1,200| 101.69%
2 HHEE AR 640 660| 103. 13%
P4 970 1,110] 114.43%
R [H] 970 980| 101. 03%
F1aE=E S aETl) 1, 080 1,160{ 107.41%
1% 1, 720 1,940| 112.79%
R 1, 720 1,750 101. 74%
2 amE AR 640 690 107.81%
P4 1, 080 1, 150| 106. 48%
R [H] 970 980| 101. 03%
BIESEE 5 S R]l] 1, 290 1,460 113.18%
1% 2, 260 2,440 107.96%
1] 2,160 2,200 101.85%
B 1A= AR 750 800| 106. 67%
1% 1, 180 1,330] 112.71%
K 1, 180 1, 200 101.69%
5 2 tEhkE S R]l] 640 660 103. 13%
P4 970 1, 110| 114.43%
1] 970 980[ 101.03%
FEE = S EI] 1, 080 1, 160| 107.41%
1% 1,720 1,940{ 112.79%
K 1, 720 1, 750| 101. 74%
R 5308 1=
717 A7 VR 1, 080|FE 11
ARy T4 b 210 11
S NE 310 320 103.23%
RN 1, 080 1,100{ 101.85%
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fi FHE} U IE R WIEf% WER 5
HREE SREEFES 150 NLAF 7,770 7,920( 101.93% |{Hfdchmflai
151 A~200 A 8, 740 8, 800 100. 69%
201 A~250 A 9, 600 9,680 100. 83%
251 A~300 A 10, 580 10, 580[ 100. 00%
301 A~350 A 11, 550 11, 550 100. 00%
351 A~400 A 12, 520 12, 520 100. 00%
400 N L | 13, 490 13, 490[ 100. 00%
BEfE 2 ofth 150 ALLF 4, 630 5,280 114.04%
151 A~250 A 5, 500 6, 160 112.00%
251 A~400 A\ 6, 360 7, 040| 110.69%
401 AL I 7, 230 7,920] 109. 54%
TIHHRT R v % — [ AR 3, 880 4,270[ 110.05% |75 3T
P4 6, 480 7,130 110.03%
i 6, 260 6, 370 101.76%
WHE = S]] 430 430| 100. 00%
1% 640 730 114. 06%
K 640 650| 101. 56%
PREEFHRR = ] 430 430[ 100. 00%
T4 640 730 114. 06%
K 640 650 101. 56%
FEER S R]l] 1, 180 1,260 106.78%
P14 1, 940 2,110[ 108. 76%
K[ 1, 830 1,860( 101.64%
Bk 2R 1, 180 1,200 101.69%
T4 1,940 1, 940{ 100.00%
1R 1, 830 1,860( 101.64%
BRI = S R]l] 540 630| 116.67%
P14 970 1, 050{ 108. 25%
il 970 980[ 101.03%
A 310 320 103.23%
R 5308 1=
AR L T4 | 21015811
Eel SEEHD 150 ALLF 7,770 7,920] 101.93%
151 A~200 A 8, 740 8, 800 100. 69%
201 A~250 A 9, 600 9, 680 100. 83%
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15 e aE Hif WIE% QUEHE |5
251 A~300 A 10, 580 10, 580| 100.00% |¥& 3P
301 A~350 A 11, 550 11, 550 100. 00%
351 A~400 A 12, 520 12,520 100. 00%
400 AL 13, 490 13, 490[ 100. 00%
HfEE Zofth 150 NLA T 4, 630 5,280 114.04%
151 A~250 A 5, 500 6, 160 112.00%
251 A~400 A 6, 360 7,040( 110.69%
401 \NLL 7, 230 7,920| 109. 54%
8| W {1 [R e 1, 230 1,350] 109.76% |&tz%qi
9|3E % 5 AR 1005 D108) %
10{{R])11 5 A EE (10043110 ~EL7E,
L1 [7EEN A 5 R R
12(MEKIBN )T% KB C R T<C 1A 510 560 109.80% |Z\[Elsk et s
SN—r A7 |773)-C 1H 300 330 110. 00%
773)-C 10 100 110[ 110.00%
IR] U2 SN IN— 7 T T Y 1A 300 310] 103.33%
ZHMGT~F 27T G REl] 4, 320 4,400 101. 85%
T 1% 5, 400 5,500| 101. 85%
[ 4, 320 4,400[ 101.85%
ZAGT ~F o 7 LS ]| 21, 600 22,000 101.85%
1% 27, 000 27,500] 101.85%
1R 21, 600 22,000[ 101.85%
142" v PG 12, 340 12,560 101. 78%
15 [HB 2N A 1T 1H 60 60| 100.00%
BER 1H 2,030 2,230 109. 85%
1H 190 200| 105. 26%
IO e % 52 1 B 2,070 2,270| 109. 66%
BlLAT 1H 60 60 100. 00%
D 14 110 120 109.09%
16 [HR 2N 5 Ak EAELA 14 1, 500 1,500 100.00%
Eflm 14 130 130[ 100.00%
e 1H 110 110 100.00%
e 14 1, 390 1, 390 100.00%
yesoxi) 1A 370 370| 100. 00%
Z DA, 1H 500 500 100. 00%
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15 IE ] E& QUER 5
W B AN T S - W e 17 640 700| 109. 38% |/ARRFkHHEEESE
18| = Hh J\ZEELH A B X 35, 000 35, 000] 100.00% [BREEAER

J\ZEZLHh C X ] 24, 000 24, 000 100.00%
KB st 1 X 4, 500 4,500] 100.00%
TR B HE 1 X 6, 000 6, 000 100. 00%
B HH AR L 1 X[ 6, 000 6, 000| 100. 00%
19|\ E/T 555 12l B (HTN) 12, 000 12, 000{ 100.00%
12 LA (RT4%) 20, 000 20, 000 100. 00%
12m AT (FTAY) 7, 000 7, 000] 100. 00%
125EAw  (HT4%) 12, 000 12, 000 100. 00%
FEPE N O AR D—E (HT ) 4, 000 4,000 100. 00%
SEPER RO —H (HT4H) 10, 000 10, 000 100. 00%
20| A zREE BEE R (HT) 30, 000 30, 000 100. 00%
BeE LR (HTA%) 45, 000 45,000 100. 00%
g2 (k (HTN) 30, 000 30, 000 100. 00%
e A NCIPYY 45, 000 45,000 100. 00%
EE3R (HTN) 50, 000 50, 000| 100. 00%
eFE3R (HT44) 75, 000 75, 000] 100. 00%
ST AR5y 40, 000 40, 000 100. 00%
21|HREHE > & — ‘FHiT 320 350| 109.38% |pE T 57 BGR
WHE= T4 540 590| 109. 26%
K 540 550 101. 85%
PRI 860 930] 108. 14%
A Tt 1,510 1,560] 103.31%
1] 1, 400 1, 420{ 101. 43%
LR 1, 180 1, 200{ 101.69%
FEER T4 1, 940 2,010 103.61%
K 1, 830 1, 860| 101.64%
A HR N 310 320| 103. 23%
2|8 mEE X — BT S EI] 1, 180 1,330 112.71%
A 1% 2, 050 2,220( 108.29%
K 2, 480 2,520 101.61%
DR S ]l] 1, 180 1,200 101.69%
B P4 2, 050 2,080] 101. 46%
K] 2, 480 2,520 101.61%
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15 e aE Hif WIE% QUEHE |5
SN 310 320] 103.23% |pg L&t BRR
23| W] B Hi e EINGD] 5, 400 5,900 109. 26%
58 R Al 3, 240 3,500 108. 02%
24| BT A VA B A W A5 e iy 50 50| 100.00% |/KpEFRE
RS D D 270 270] 100. 00%
25|\ ZE ik Fiz_b PR b px 1 H A 1, 555 1,580 101.61%
T4y Y —F V(i A L 18T A i 4, 665 4,750 101.82%
308 41 D1 1618 7 il 9,331 9,500| 101.81%
66 H UL E 13, 996 14, 250 101.81%
M R 17 H Al 800 800| 100. 00%
164 A 1 L83 A SR 2, 000 2, 000] 100.00%
36 1 L 161 7 it 3, 400 3,500 102.94%
6145 H UL E 4, 800 4,900{ 102.08%
26| J\ZER] /A A~ ZFITE Ff ek 20 20 100. 00%
21|77 — L AA R WHE = G REl] 3, 880 3,950| 101.80% |/Epks
Ei% 6, 480 6,600 101.85%
K 6, 260 6, 360 101.60%
S 1 S El] 1, 180 1, 200] 101.69%
T4 2, 050 2,080 101.46%
THHRER 2 ]| 860 870 101. 16%
T4 1,510 1,530{ 101.32%
HHSE 3 S El] 1, 180 1,200 101.69%
T4 2, 050 2,080 101.46%
IT= S El] 2,370 2,610 110.13%
T4 3, 990 4,360 109.27%
A 310 320| 103.23%
28| B =R 1 50 348K 220 240[ 109. 09%
157G E 260 280( 107. 69%
A W1 280| 8 1
29| ZEMEHEE B A473-1 E-1 6, 000 6, 600 110.00%
P A 4731 E-2 6, 000 6, 300| 105. 00%
B A473-1 E-3 6, 000 6, 300| 105. 00%
P A 473-1 E-4 6, 000 6, 300| 105. 00%
JeHT61-5 K-12 6, 000 6, 300| 105. 00%
JeHT61-5 K-13 6, 000 6, 300| 105. 00%




15 U IE R UWIE % wiEE |fHE
SEHT61-5 -14 6, 000 6, 300 105.00% |pEbR:H
JCHT61-5 K-15 6, 000 6, 300| 105. 00%
JeHT61-5 -16 6, 000 6, 300| 105. 00%
JEHT61-5 -17 6, 000 6, 300| 105. 00%
30| T B PN 2, 000 2,000] 100. 00%
il 6, 000 6, 000] 100. 00%
SlRe AR EE S — TR 3,020 3,330| 110.26% |HOIRIRBLAL
KA—L P14 5,070 5,550 109. 47%
K 4, 860 4,950 101. 85%
AR RS E AR 1, 290 1,310| 101.55%
P4 2, 160 2,200 101.85%
R [H] 2, 050 2,080( 101.46%
IKPERERTITIHE R ] 970 980| 101. 03%
E1% 1, 720 1, 750 101. 74%
R 1, 620 1,650] 101.85%
R EEE AR 640 650| 101. 56%
P4 1, 080 1, 100| 101.85%
R [H] 970 980| 101. 03%
FHEREE R = S R]l] 750 760| 101. 33%
Fi% 1, 180 1, 200{ 101.69%
1] 1, 080 1,100{ 101.85%
A B PAEH 1, 080 1, 100| 101.85%
SN 310 320| 103. 23%
32| W] i 1,700 1,870( 110.00%
33[< T LEE i 3, 450 3,740 108.41% [{FERY—bE R}
2= Tt 5, 830 6, 240| 107. 03%
1] 5, 500 5,600 101.82%
‘R 860 870 101. 16%
DR T4 1,510 1,530 101.32%
K 1, 400 1,420] 101.43%
R 640 650 101. 56%
BIWESEE = Tt 1, 180 1, 200{ 101.69%
K] 1, 080 1,100{ 101.85%
‘R 750 760| 101. 33%
BRI = T4 1, 290 1,310| 101.55%
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15 U IE R WIE#4 wiEE |fHE
K 1, 290 1,310 101.55%
2R 860 870 101.16% |[fEEH—b 258
WHE = F1& 1, 400 1,420 101.43%
R [H] 1, 400 1, 420| 101. 43%
SN 310 320| 103. 23%
34| EEHh FR T S5 1ty 20, 000 20, 000| 100. 00%
JZASR=S: 20, 000 20, 000| 100. 00%
MEPAIES: 20, 000 20, 000| 100. 00%
FHVE 24 20, 000 20, 000 100. 00%
35|REf T 5 12 Lh B (RTN) 12, 000 12, 000 100.00%
12i LA B (BT4%) 20, 000 20, 000| 100. 00%
125EATw  (HTPY) 7, 000 7, 000{ 100. 00%
12k AT (HT4%) 12, 000 12, 000{ 100.00%
FEPE K R D — (HT) 4, 000 4,000 100.00%
SEPEN ONEAE D —E (HT A1) 10, 000 10, 000 100. 00%
36| T 2 T R 2 2, 500 2,500| 100.00% |pE3E#
REA LM (FR%H) 200 200| 100. 00%
fifi) 1| R 2E R (A) %8 200 200] 100. 00%
i) 1| B2 E L (B) %8 200 200| 100. 00%
I i i X 2 21 100. 00%
3T EZ= v Z—  |1,000ni/ N7 A 66, 960 68, 000| 101.55%
A PRAR 17, 280 17,610 101.91%
38| LRIt v — GERV N 10, 800 11,880 110.00%
468/ N7 A 30, 240 30, 880] 102. 12%
234m N7 A 15, 120 15, 440 102. 12%
39| H O DY AEE UNFEAELLT) 200 220 110.00%
AEE (FAEL ) 410 450| 109. 76%
AEE ONFALLT) FER11 2, 050 2,200| 107. 32%
ANEE (R ) R 11E 4, 060 4,500( 110.84%
% AR —v AR 4, 860 4,950 101. 85%
1% 12, 090 12,310 101.82%
K 11, 550 11, 760| 101.82%
SN 310 320| 103. 23%
40 IRIRMLRS (26D [FPREE=EE 2 —f 11, 100 11, 300] 101.80%
(ANRBHGH) | DUV 10, 000 B 1I-
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15 e aE Hif WIE% QUEHE |5
MR FVEITA |F/ae s 5, 140 5,230] 101. 75%
Nodia— 5, 140 5,230| 101.75% |pEEiR
VU =N X 5, 140 5,230| 101.75%
e 10, 280 10, 470| 101. 85%
AFTEE S ELAYEN 200 220 110.00%
ERAELL 410 450 109. 76%
BArT b SARLT 1, 020|FE 11
6~10 ALL T 2, 050( & 11
AT > b SANHLLT 610 670 109. 84%
ANHLLE 820 900| 109. 76%
FrA & ——7 200 220 110.00%
= LEAm 360 390[ 108. 33%
ARER 3% 1 820 870 106. 10%
~ % K 510 650 127. 45%
~ % /)N 300 390| 130. 00%
42 [HEFETRJE K ] 970 980 101.03%
B A It Jit 5 WHE=E F1& 1, 620 1,650 101.85%
R [H] 1,510 1,530 101.32%
R 1, 080 1, 100| 101.85%
N TAfFZEE Tt 1, 830 1, 860| 101.64%
1] 1, 720 1, 750 101. 74%
A 310 320 103.23%
N TAFZEEE PREHK 1, 080 1, 100| 101.85%
EE/KEHE KEFH 7K P SE AR B 5 5 100. 00%
INO Ay (—f200) TN 100 100[ 100.00%
/INA Gy ARRERE (—%200) 74 100 100[ 100.00%
IO Gy EER GEBH) TN 300 310] 103. 33%
IO GyaKHEER GERH) LIPN 610 620 101.64%
KAsyKkEx (—#H) HT PN 510 520 101.96%
KApAME (—#HH) HIPAN 610 620 101.64%
KAGKhsx GEEH) HT PN 300 310 103. 33%
KRGy KiEx (GERH) LIES 610 620 101. 64%
BB AERIA  15,000m 2,005,710 2,042, 700] 101.84%
10, 000 1,337, 140] 1,361,800 101.84%
7, 500m 1,002, 850] 1,021,350 101.84%
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UAE ] B QUEHE |5
5, 000m 668, 570 680, 900| 101. 84%
3,000 401, 140 408, 540| 101. 84% |FEZERR

2,000m 267, 420 272,360 101.85%
1, 000 133,710 136, 180 101. 85%
500 66, 850 68, 090| 101.85%
HimEre (Im) 410 410| 100. 00%
BHLy ) m— i | Ny T — 100 100{ 100.00%
REAN =)27 W75 300 310 103. 33%

WA A7 —L N |50 X[ 50 50| 100.00% |FHEE
100 X[ 100 110] 110.00%
160 X[ 160 160| 100. 00%
210 X [ 210 220| 104. 76%
HEETE B 1 AE 14675 H E—12 4, 700 4,700 100.00%
BTET 47 1134 L—3 4, 900 4,900 100. 00%
LR HT 475 B34 L—6 9, 500 9,500 100. 00%
BTET 47 H134 L—38 9, 000 9,000 100. 00%
LR HT 475 B34 L—9 9, 000 9, 000| 100. 00%
BTET 47 H134 L—11 9, 100 9, 100 100. 00%
T 475 34 L—12 9, 100 9, 100 100. 00%
B BT 47 1168 L—17 6, 400 6, 400 100. 00%
T 42K 68 L—18 6, 400 6, 400 100. 00%
B BT 47 1168 L—19 8, 900 8,900( 100. 00%
T 43K 68 L—20 8, 900 8, 900( 100. 00%
PKER8427 Hia B—19 12, 000 12, 000 100.00%
REF4697% Hitl D—38 11, 900 11, 900| 100.00%
TERA2397 Hit H—3 8, 500 8,500 100. 00%
HEZERT60 % #1127 I —2 11, 100 11, 100| 100.00%
HZERT60F H 127 I1—3 11, 100 11, 100| 100.00%
HEZERT60 & #1127 I —4 11, 100 11, 100| 100.00%
HZERT60F H 127 I1—5 11, 100 11, 100{ 100.00%
TEEI8427 Hitb B—20 15, 200 15, 200 100. 00%
HHEFA463 % Hi2 D—9 14, 700 14, 700{ 100. 00%
(k361 G—9 16, 900 16, 900| 100. 00%
BF FH A2 146 % Hi E—15 18, 500 18, 500 100. 00%
THERT33FKHI2 M— 4 17, 700 17,700 100.00%




155 UAE ] W IE4 WwEZR [HE
THFATAT HI4 D—10 17, 600 17,600( 100.00%
TRPEPATAE Hi4 D—11 17, 600 17,600 100.00% |FHZHBER
BF FH AR 146 % Hi E—16 17,700 17, 700 100. 00%
Bf [ 44665 #12 E—17 19, 400 19, 400 100. 00%
(k47428 112 G—10 19, 400 19, 400 100. 00%
X347 H B—21 18, 900 18, 900 100. 00%
BY FH A= 466 % Hi12 E—18 19, 800 19, 800{ 100. 00%
BF [ A4 466 % #12 E—19 16, 700 18, 000 107. 78%
TEAA246 112 H—4 17, 400 19, 100 109. 77%
HEBT8T & 1 J—2 17, 800 19, 500| 109. 55%
= AHT252 #1119 P—1 10, 000 11, 000| 110.00%
—AZRT25 #1119 P—2 10, 000 11, 000| 110.00%
= RZHT 252 #1119 P—3 10, 000 11, 000| 110.00%
—ARZRT25 #1119 P—4 10, 000 11, 000| 110.00%
TXE8427% Hita B—22 10, 300 11, 300] 109.71%
PKER8427 Hi4 B—23 10, 300 11,300 109.71%
TXE8427% Hita B—24 10, 300 11, 300] 109.71%
PKER8427 Hia B—25 10, 300 11,300 109. 71%
EkA246 75 112 H—5 14, 200 15, 600| 109. 86%
B ET 47 H134 L—22 19, 300 19, 300{ 100. 00%
T 475 34 L—23 19, 300 19, 300| 100. 00%
B ET 47 H134 L—24 19, 300 19, 300{ 100. 00%
T 475 34 L—25 19, 300 19, 300| 100. 00%
B ET47% 1134 L—26 19, 300 19, 300{ 100. 00%
T 475 34 L—27 19, 300 19, 300| 100. 00%
B ET47% 1134 L—238 19, 300 19, 300{ 100. 00%
T 475 34 L—29 19, 300 19, 300| 100. 00%
B¥ FH A 466 % Hi2 E—20 17, 200 18, 900{ 109. 88%
[LIRF 3757 Hit R—38 15, 600 17, 100| 109. 62%
(L1177 375 7 Hit R—9 18, 900 20, 700 109. 52%
RERT38H ML M—5 19, 300 21, 200| 109. 84%
HZERT3 1K 1 1—7 19, 500 19, 700{ 101.03%
TR 313 % H B—26 20, 500 20, 500 100. 00%

47 RAE F-Rif 860 870 101.16% [tL=HFMR
RS T4 1, 080 1,110 102.78%
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fi FHE} IE ] IE % SUEE |5
K 1, 290 1,310 101.55%
ZEHi 860 870 101.16% | EHH
oA F1% 1, 080 1, 110] 102.78%
R [H] 1, 290 1,310] 101.55%
SRR 540 570 105. 56%
Tk =E P14 640 760| 118. 75%
K 860 870 101. 16%
Rl 320 320[ 100.00%
IV e F1% 430 430 100. 00%
R [H] 540 550| 101. 85%
i 320 320| 100. 00%
FIRESE Tt 430 430] 100. 00%
K 540 550| 101.85%
] 540 550| 101. 85%
FH=E P4 640 700| 109. 38%
R [H] 860 870 101. 16%
] 640 690 107. 81%
HE= Tt 860 920 106. 98%
1] 970 980[ 101.03%
]| 540 610] 112.96%
fEfkE T4 750 810 108. 00%
K 970 980 101.03%
PRI 540 570 105. 56%
RS R == Tt 640 760| 118. 75%
1] 860 870[ 101.16%
]| 540 570| 105. 56%
B E = T4 640 760| 118. 75%
K 860 870 101. 16%
R 860 900| 104. 65%
JEIREE Tt 1, 080 1,200 111.11%
R 1, 290 1,310] 101.55%
A 310 320 103.23%
VAN g Ik
48|BT Rty - RES=E AR 5, 720 6, 260 109. 44%
T4 9, 500 10, 430{ 109. 79%




fi FHE} U IE R WIE% QUEHE |5
K 9, 070 9,230 101.76%
BIES=E ZEHi 750 800| 106.67% |H#HBE R
Ft% 1, 180 1,330] 112.71%
R [H] 1, 180 1,200{ 101.69%
oA AR 750 800| 106. 67%
P14 1, 180 1,330 112.71%
K 1, 180 1,200| 101.69%
WHE=E ] 750 800| 106. 67%
Ft% 1, 180 1,330] 112.71%
R [H] 1, 180 1,200 101.69%
DB G REl] 750 800 106.67%
% 1, 180 1,330] 112.71%
K 1, 180 1,200{ 101.69%
FRHER SR = ] 750 800 106.67%
P4 1, 180 1,330 112.71%
R [H] 1, 180 1,200 101.69%
SN “FHl 310 320| 103. 23%
RN 1, 080 1,100| 101.85%
HE B B i 1HY4 960 970 101.04%
vr ) g Ik
HEl B EEO 56 150 ALLF 7,770 7,920] 101.93%
151 A~200 A 8, 740 8, 800 100. 69%
201 A~250 A 9, 600 9,680 100. 83%
251 A~300 A 10, 580 10, 580( 100. 00%
301 A~350 A 11, 550 11, 550 100. 00%
351 A~400 A 12, 520 12, 520 100. 00%
400 A LA | 13, 490 13, 490[ 100. 00%
HEl ZoMmogEe 150 NEAF 4, 630 5,280 114.04%
151 A~250 A 5, 500 6, 160 112.00%
251 A~400 A\ 6, 360 7, 040| 110.69%
401 \NLA | 7, 230 7,920| 109. 54%
49| MEE = B> AR 430 430] 100. 00%
T4 640 650 101. 56%
Hh D] AR 430 430] 100. 00%
T4 640 650 101. 56%
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fi FHE} U IE R UWIE % wiEE |fHE
BfEAu eI 430 430[ 100. 00%
P14 640 650] 101. 56%

SN 310 320 103.23% [fhEZE R

50 | 3 i JEi. E3=E ] 1, 300 1, 420] 109. 23%
Ft% 1,730 1,900{ 109. 83%
R [H] 2, 080 2,110[ 101. 44%
A2 S eI 1, 620 1,650 101.85%
P14 1, 840 1,960] 106.52%
K 1, 230 1,470 119.51%
A NE 310 320| 103.23%

51|\ ZEHT 37 [ EfE RPE R E— L Bt 1, 620 1, 780( 109.88% |[x&EAx
% 4, 100 4, 460[ 108. 78%
] 3, 880 3,950 101.80%
HFEER ] 750 830] 110.67%
P4 1, 940 2,090| 107. 73%
R [H] 1, 830 1,860 101.64%
SN 310 320| 103. 23%
RN 1, 080 1,100| 101.85%

SRR A IR T fE IS ‘Rl 4, 530 4,960] 109.49% [{AEH
T~F 2T AR—TIFIH Tt 6, 040 6, 620 109. 60%
AT U L 22 1] 5, 400 5,500] 101.85%
KE=E S El] 22, 680 24, 880( 109. 70%
TF 2T AR—VIZFIH T4 30, 240 33, 170 109. 69%
AT BT % K 27, 000 27,500 101.85%
KE=E S R]l] 22, 680 24, 880 109. 70%
T~ F 2T AR LIANFI T Tt 30, 240 33, 170 109. 69%
AR U L 7y (e R E 8946 1] 27, 000 27,500 101. 85%
KE= S EI] 45, 360 49, 760( 109. 70%
T~F 2T AKR—" LISNF]H T4 60, 480 66, 350 109. 71%
NGB B U 2p ey (R B ) &I 54, 000 55,000 101.85%
(NEE ]l 68, 040 74, 640 109. 70%
T~ F 2T AR LIANZFI T Tt 90, 720 99, 520| 109. 70%
AR I % (CEF] B B9Fh) I 81, 000 82, 500| 101.85%
KE= ] 113, 400 124, 410 109. 71%
T~F 2T AR—"LIIMNF]H T4 151, 200 165, 880 109. 71%
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15 U IE R WIE#4 wiEE |fHE
NGRS %5 (] HrY) wIH 135, 000 137, 500 101.85%
IMEF = i 860 960 111.63%
T~F 2T AR—VIFIH F1& 1, 180 1,280 108.47% (K&

R [H] 1, 080 1,100{ 101.85%
IIMEB = G REl] 4, 320 4,860 112.50%
TF 2T AR— LS Fi% 5, 930 6, 480 109. 27%
=R B - K 5, 400 5,500 101. 85%
IMEB = ] 8, 640 9, 730 112.62%
TF 2T AR—LSNFIH F1% 11, 880 12, 980( 109. 26%
=g IR R [H] 10, 800 11, 000| 101.85%
fl—= = G REl] 1, 400 1,500] 107.14%
o SIRENESPIN Tt 1, 830 2,000] 109. 29%

K 1, 620 1,650] 101.85%
KL —= = ZFHif 2, 800 3,020| 107.86%
= INER:D P4 3, 670 4,020 109. 54%

R [H] 3, 240 3, 300| 101.85%
DB ] 430 460| 106. 98%
o AN SRSPIN Tt 540 620 114.81%

1] 540 550 101. 85%
DN E AR 860 930| 108. 14%
=R E Y T4 1, 080 1, 250{ 115. 74%

K 1, 080 1, 100| 101.85%
WHE= S R]l] 540 590| 109. 26%
o SIRENESPIN Tt 750 790| 105. 33%

1] 640 650 101. 56%
HE= S El] 1, 080 1,200 111.11%
=R E Y T4 1,510 1, 600 105.96%

K 1, 290 1,310| 101.55%
R ]l 540|811
o SIRENEISPIN P4 750 BE 1k

R 640 & IE
IR AT 1, 080|FE 11
=R E R T4 1, 510[BE 11

K 1, 290|FE 1I-
2SS i 310 320| 103. 23%
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15 U IE R WIE#4 wiEE |fHE
531K 7T — v IEIE: N 300 330 110.00%
1\% 6 0L 200 220| 110. 00%
1B =Y 200 220 110.00% (K&
el s - g 100 110[ 110.00%
IRIGIE S N 3, 080 3,300 107. 14%
1A% 6 0kl b 2, 050 2,200 107.32%
Mm% ERAe 2, 050 2,200] 107. 32%
11al% Hhagdg - g 1, 020 1,100| 107.84%
3STHK KA 9, 250 9,900 107.03%
3SHWH% 6 0l E 6, 170 6, 600 106.97%
3T A ERAE 6, 170 6, 600 106.97%
3H RS HEAgE . NFEAE 3, 080 3, 300| 107. 14%
BiIRAT:  @iE 2, 050 2,200| 107.32%
BARAS: e A 1, 020 1, 100| 107.84%
26m7 -y 1 a—RA 2, 050 2,250 109. 76%
25m7 =y ArT— R 20, 570 22, 620| 109. 97%
g 7—n 4,110 4, 180| 101.70%
WITH 7 —v 4,110 4,180 101.70%
WHE= 1 S R]l] 530 590| 111.32%
Fi% 750 890| 118.67%
1] 750 760 101.33%
WHEE 2 ]| 530 650 122.64%
1% 860 980[ 113.95%
K 860 870 101. 16%
SN 310 320| 103. 23%
54| A F—4 ECIE NN 120 120{ 100.00%
—[FZR HEAELT 70 70| 100. 00%
%A1 1[EZE KA 1, 230 1, 250] 101.63%
51 1 HAERLT 720 730 101. 39%
1HZ KA 1, 850( & 11
LHZ AR 1, 020]Fg 1I-
REflZ: 3P KA 1, 230|FE 11
BRI SHEFf FRALT 720 BE 11
=R KA 18, 510 18,850 101. 84%
=Rk REEEDT 10, 280 10, 470| 101. 85%
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15 U IE R WIE% QUEHE |5

—R%k 6 0Ll E 15, 420|BE 11

AX—IRE mRE 610 620 101.64%

2 REfHIAR KA 960 KE

2 W% AL 560

4 %A RA 1, 440

4 RpfER e AERLE 840

6 RFfElZR R 2, 160

6 RFf % AT 1, 260

B E H%#E 9, 250 FE 11

JBi A H#E 1, 020 1, 030| 100.98%

55| 1EE A ek G REl] 4, 320 4, 480| 103.70%

E4% 5, 400 5,610 103.89%
i 4, 320 4, 480[ 103.70%

BrERE Rl 21, 600 22, 440| 103. 89%

T 2T 2T ARV LIS} P14 27, 000 28, 050 103. 89%
1R 21, 600 22, 440| 103. 89%

V7 hR— L LR 3, 020 3,070[ 101.66%
E1% 3, 770 3,830| 101.59%
1] 3, 020 3,070 101.66%

V7 N AR— L AR 15, 120 15, 400| 101. 85%

T F 2T AR— LIS T4 18, 890 19, 230| 101. 80%
1R 15, 120 15, 400{ 101. 85%

F=RAd— k Zas=1i] 860 890| 103.49%
Fi% 1, 080 1,110 102. 78%
1] 860 890[ 103. 49%

F=Aa— h LR 4, 320 4, 480| 103. 70%

T F o T AR— LIS} T4 5, 400 5,610 103.89%
i 4, 320 4, 480( 103. 70%

BERYS A — 2, 050 2,250 109. 76%
154y 510 560 109. 80%

VT R A H— 1, 000 1,100{ 110.00%
154y 250 270 108. 00%

FoATa— |k FAH— 150 160]| 106. 67%

56| 2 AR — > 28 B2 i FHiT 4, 320 4, 480[ 103. 70%

P14 5, 400 5,610 103.89%




15 e aE Hif WIE% UE
& 4, 320 4,480 103. 70%
fiz it i 21, 600 22, 440| 103. 89%
T~F T AR—Y LISk F1& 27, 000 28, 050 103. 89%
R [H] 21, 600 22, 440| 103. 89%
ZHW 7T R AR 4, 320 4, 480| 103. 70%
r1% 5, 400 5,610 103.89%
K 4, 320 4, 480[ 103. 70%
AT T R ] 21, 600 22, 440| 103. 89%
TF T AR— LIk F1% 27, 000 28, 050 103. 89%
R [H] 21, 600 22, 440[ 103. 89%
FoZa— k ZFHi 1, 290 1,310] 101.55%
E4% 1,610 1,630 101.24%
K 1, 290 1,310| 101.55%
F oA o— h TEH 6, 480 6, 600| 101. 85%
T ~F 2T AR—Y LISk F1% 8, 090 8,230 101.73%
R [H] 6, 480 6, 600 101.85%
T\ 75582 B LY ZH T 70 R S aETl) 2,160 2,200 101.85%
P4 2, 690 2,730| 101. 49%
1] 2,160 2,200] 101. 85%
A=A AVAVAN S El] 10, 800 11,000[ 101.85%
T F 2T AR— LIS T4 13, 490 13, 730| 101. 78%
K 10, 800 11,000 101.85%
8|51 Bl ik S R]l] 2, 590 1E
500 nd AT Tt 4, 210|BE 1
1] 4, 100| B 11
]| 5, 070| & 1
500t LA | T4 8, 420 1=
K 8, 100|FE 1I-
R 640 820[ 128.13%
(A5 B ) 500 i AT P4 1, 050 1, 100{ 104. 76%
R 1, 020 1, 030 100.98%
R 1, 260 1,650 130.95%
500ni LA | T4 2,100 2,200| 104. 76%
K 2,020 2,050 101.49%
SN 310 320| 103. 23%
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fi FHE} U IE R WIE% QUEHE |5
SI|HE T YA 1T 10997 Hi 1 X— 2 11, 200 11,200 100.00% |AEHZH F5AT
EHMT 7397 Hi V—1 14, 200 14, 200{ 100. 00%
B PNHTO0Z H 1 T—1 15, 000 15,000] 100.00% |REA#HE FH#H
Hr A HT4613% Hi2 Z—10 11, 700 11, 700] 100. 00%
P HT461 2 Hi3 Z—11 11, 700 11, 700 100. 00%
RPN 256 #1116 T—2 11, 700 11,700 100.00%
EAWT174 HI2 V—17 15, 000 15, 000 100. 00%
NEAHTHT 20125 Hi U—3 11, 700 11,700 100.00%
TJHT9938 Hii3 X—5 11, 700 11, 700 100. 00%
FRIFFHT 3672 Hi3 wW—1 11, 800 11, 800 100.00%
B PNRTO0 H 1 T—3 11, 800 11, 800| 100.00%
60 [AE A7 JHE 50 FL Al NI NUN: 300 330 110. 00%
/N E AR SR 150 160[ 106.67%
FEEIS KA 270 290| 107. 41%
FEEIS] e 130 140 107.69%
61|TEBL T4 AR 1, 830 2,040] 111.48% |JEBHAE
F1aE=E P14 3, 130 3,410[ 108.95%
R [H] 3, 020 3,070| 101.66%
PRI 860 870[ 101.16%
B2 o= Tt 1,510 1,530 101.32%
1] 1, 400 1, 420{ 101. 43%
i 970 & IE
T AR i = T4 1, 510|F& 1k
K 1, 510|FE 11
R 970 1,030] 106.19%
REA = Tt 1,510 1,720 113.91%
1] 1,510 1,530{ 101.32%
A 310 320 103.23%
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TEE UE R W% dUER |5
1 [ HIEE ] — B (X A A el 1, 000 1,100] 110.00% [##SR
2 HhEE X A2 £ e 1, 000 1, 100] 110.00%
I#zox (PDF7T —4) 1, 200 1, 200| 100.00%
3| M X Bl HlzHox 500 750 150. 00%
4| HIEE AR = A S A o> 1, 500 1, 500 100. 00%
Ific>% (PDFF—%) 1, 500 1,500] 100. 00%
5| 8 AR = 4 e [ B e 500 750| 150. 00%
6 | HFE XIHR 2 4 R X A A iz o & 1, 500 1, 500] 100. 00%
1#iz>% (PDFF—#) 1, 500 1,500] 100.00%
7| HOEE [XIAR £ A e X B e 500 750 150. 00%
8| HiLEE [ AL Bl X A A+ iz 1, 500 1, 500 100. 00%
O | i1 B 45 i [X ] B Il o & 500 750] 150. 00%
10| H1 % X 25 £} Iz & 1, 000 1, 100] 110.00%
1#lz>& (PDFT —4) 1, 000 1, 100] 110.00%
LER E TR iz & 1, 000 1, 100] 110.00%
Mﬁu_o?—f (PDF7— #) 1, 000 1, 100] 110.00%
12 (M PR = £ sl pk L fE AT MIZHE 500 750| 150. 00%
Mz DE (SINAT —H) 300 450( 150. 00%
13 [ HEE AR = 44 i pk B R MﬁH_O% 500 750] 150. 00%
14| BB XIAR 2548 sS ik R A A T X 300 450[ 150. 00%
JlZHoE (SINAT —#) 300 450( 150. 00%
15| HEE [XIAR 2248 U R f B MﬁFLo% 300 450[ 150. 00%
16 [ HFEE AR A ke FL fEE AL ) MIZHE 300 450( 150. 00%
Mz DE (SIMAT —#) 300 450( 150. 00%
17 [0 AR ok S Fa ) MﬁH_O% 300 450| 150. 00%
18| M EE A0 AUpk SR T A 5 BlzoX 300 450| 150. 00%
JlZHE (SINAT —#) 300 450( 150. 00%
19 [0 RIS e e S 78 B MﬁH_o% 300 450| 150. 00%
20| i FE A A A A IE ok 1, 200 1, 200 100. 00%
1% izo>x (DXFF—%) 1, 200 1, 200 100. 00%
1ZE12o% (SIMAT — &) 1, 200 1, 200] 100. 00%
21| w5 R iz o X 300 450] 150. 00%
22| M FE A A iz x 1, 000 1,100] 110.00%
1#lz>& (PDFT —4) 1, 000 1, 100 110.00%
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THOE U IE R WIEf% JUER  |fH#
O R T HEiZHE 300 450] 150. 00% |#aisak
23 E X o> & 1, 000 1, 100] 110.00%
Hizo% (PDEF—%) 1, 000 1, 100] 110.00%
24| —2X 1| ZoX 3, 000 3, 000] 100. 00%
1%@;0% (PDFF — %) 3, 000 3, 000 100. 00%
25| DFE (HUEEBIAR = 5 - 268 55) B &E 500 750[ 150. 00%
BIZ DX (PDFFT—#) 500 750 150. 00%
26| F4 T ICEZY LW O DORE 1& (1K) 1cox 500 750 150. 00%
27|FIZIZED D H DDA iz & 1, 000 1, 100] 110.00%
#izox (PDFF— &) 1, 000 1, 100| 110.00%
112> %x (DXFF—4%) 1, 200 1,200 100. 00%
12125 % (SIMAT — &) 1, 200 1, 200] 100.00%
28| HEE (4R D B REA I (KD Ico& 1, 000 1, 100 110.00%
20| IHHIE X (AOH A X) DA Iz o X 1, 000 1, 100| 110.00%
30| A (A3Y- A X) DAt Iz > x 500 750| 150. 00%
31X (A3Y A X) DA+ I#izox 1, 000 1, 100| 110.00%
1#lz>& (PDFT —4) 1, 000 1, 100] 110.00%
2|1 kX B T — (A3 A R) DALfT Ao & 1, 500 1,500] 100.00%
33|GIST—X X (A3HA X)) DALf} HlzHx 1, 500 1, 500 100. 00%
#lzo% (PDEF—#) 1, 500 1, 500 100.00%
1ZE (2o & (DXF7T—#) 1, 200 1, 200] 100. 00%
BA|HIA IS LW ODBE W (UE) 1cox 500 7501 150. 00%
35|RT A ICED D DDAIAS Iz > X 1, 000 1,100 110.00%
#lzo% (PDEF—#) 1, 000 1, 100] 110.00%
%2> %x (DXFF—%) 1, 200 1, 200 100.00%
1ZE|12o%x (SIMAT — &) 1, 200 1, 200 100.00%
36| B BAGRAE R Xkt 300 300 100.00% |PA7%74%
37[EEF R AW 1, 300 1, 300 100.00%
38| & s (2 B3 % AEB] ok} 250 250[ 100.00% |fEERATEIR
39| EN 8 D RIE B FH0kH 250 250] 100. 00%
40| FNEE B Sk alE P AT T HCEE 400 450| 112. 50%
MEREDOG L OAHIAR D THECE 250 250[ 100. 00%
2| FEEOME DG L OARSTITHR D AR 250 250| 100. 00%
BIEREARGIEORE 250 350[ 140.00%
44 RIEARGIR FC ik F I B 5 2 5iE] Bk 250 250| 100. 00%
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THOE kR | e JUER |l
W5(EREOE L O JRIRAHTER D BECE 250 350] 140.00% [{FEAETEIR
46| 55 A Aok 250 250| 100. 00%
4TER BRI R (AHR) 500 500 100.00% |@dtzk3

E ORISR (7 —) 1, 200 1, 300| 108.33%
48| BAFEIT 4 THCEL WER L
49| FKIE  fEE LHIEOfEEFE TR 10, 000 10, 200| 102.00% |BREZ/KiER

T FH R ok 1, 000 1, 400| 140.00%

50|1KiE  Aa/KEEE T FEEEE e 10, 000 10, 200] 102. 00%
AT EAEN O T HRAETEE 13m 8, 000 8,100 101. 25%

AT BEAE N O T HFRAETEE 20~30mm 10, 000 10, 100] 101. 00%

AR AR O T HEMRA TEE 40~50mm 20, 000 20, 200 101. 00%

PR A N O T HRAETEE 75mm~ 40, 000 40, 300 100. 75%
51|PEFBEIEY) AN ST PEEREED LT 5 L & 100 100| 100. 00%
FERGIE [E IR BEFEY) 510 520 101. 96%

52| LTS f B 25T v ROk} B 2, 000 2,800( 140. 00%
T 1, 000 1, 400| 140.00%

53| R DGk TR 3, 000 3, 000 100. 00%
54| R DAL D FF A A FHOE 1, 600 1, 600| 100.00%
55| R OIERIE T BH1ES 7 22 D A2+ FHok 550 550 100. 00%
56| K DIE RIS T BAEERH B0 P A TECEE 340 340[ 100. 00%
57| 5 Ekfir 2% 7 ] GIE DA AT XA Do g U < VXA fT Tk 1,100 1, 540 140.00%
58| B D firl #E XTI A FF o] W i TECEE 6, 000 6, 000] 100. 00%
59| — M BEIEY) & IR TEWR AL 39 % & &= 3V DIEE Z AR 9 9] 100. 00%
£ ZH 6 1 DFEE = AAE 15 15| 100.00%
1 0 ofaE AL 25 26| 104. 00%

2 0V DFRE Z A4 40 41[ 102. 50%

ROED ZH TR E 2N T A 1 0V DFeE A48 30 31| 103.33%

2 0D E ZH4E 50 52| 104. 00%
3 0L DOIRE Z A 70 73| 104.29%
5 0V OFEE Z AR 100 104] 104. 00%
B Z A 2 0 L OFRE Z AR 12 12| 100.00%
3 0V DFEE ZH4E 15 15| 100. 00%
5 0 U OFRE Z A4 24 25 104. 17%
N 114 200 209| 104. 50%
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THOE kR | e JUER  |fH#
— BRI A R LT & X
RRPE D TH RV B UIHKR S A (BRI AL HE10kgle D& 50 52| 104.00% |B2H5 /K80
DIRIE =G Te)
60| 3R — MBI LB TFHOR) A EEL005 LT 1, 290 3, 870] 300. 00%

AFt 1015 0L E25005 00 F 1, 830 5, 490 300. 00%

At E5251 M 0L ES008 0L F 2, 800 8, 400[ 300. 00%

BRG0P ETR05 LT 3, 670 11,010| 300.00%

At ET01 5 0L E10005 LT 5, 400 16, 200] 300. 00%

A EF 51000501 6, 480 19, 440| 300. 00%
61| A Ik BH 3 Tk 250 B 11 IK PERR
62| B EE I ERAT FECEE (154 ) 250 300] 120.00% |FH¥ELEES
63| BRI A EIEITICAR D B AR GRA LIRS D) 1, 000 1, 400| 140.00%
64| T A HERSHR DB FCIAR D B (14424 0) 5, 250 6,000 114.29%

65 B FLICHR D TR (134 1) 520 650] 125. 00%

6O |FT Mt « HHIDFR - THIOZROEE - BRLKZAOLE  OBD (11F4Y) 2, 620 2,650 101.15%

67| A MElRAT (FHflc L 5) O%Ee (14424 0) 3, 670 4,000] 108.99%

68| T A MRS R (FRFEZ L D) DG (1444 1) 6, 300 6, 700 106. 35%

69 B FIRAST, PRt Bk 1, 950 1,950] 100.00% |PE3E

70|48 B TR DFT IE FHCEH 430 430| 100. 00%
TR E IINFERE A B 3, 900 3,900] 100.00% |FRiFaRT/H-

etk HEE 4, 600 4,600 100. 00%

T2\ E B SR E A B4 5 AR 250 300] 120. 00% |V4EHAES
73R RE I B3 B EERA 250 300] 120. 00%
TAIKEBCEE o v v X — A B9 % Akl 250 300| 120.00%

75|Bh K E A RS T AL AT 250 300] 120. 00%

76| fE R BGPTSR E (W) FT TR ONSE AR A 15 alk D FFAC A5 250 300 120.00%
TSl % v 7 WA i AR AR AT 250 300 120.00%

78| B 4% 5 LAY D 5 IR 250 300 120. 00%

9= —¥ (HE) 10 20| 200.00% |=EFE
80| = v —kt (7 —) 100 100[ 100. 00%
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